CORD OPERATED
CURTAIN TRACK SYSTEMS

%SilentGliss



GENERAL NOTES / —figf/ =R EIR

Dimensions / ~}E&EEICOWT

- $FRI(CTRENTVRIHZEZIRE . /RSN TVBIEF (L mmBEIERDET,

- BRK kgld. $ER(CBENZ 7YY - ((HB&R) ST Tr I Vv IDEEERNET,

- 29I A X (Tl R) (& =T OB At DE S HERIDMHARICRZEEINE T,

- 349 —0FE(E100 mEYF(101/m)ICTRBALYNLTVET .

- HERINZH-T RN SR ETOIRRE(IRHULDIBE): 10 mn

- SATLOES (B) BREIZHE. A, RURLOBESTENSR/IMEOGES#ERBL TS,
- D=7 EBAL —ILCHEL TWDE, O MEEIFICERIN RN REFEZZ B gEENHDET ,

Fitting / S%&(CDULT
- LT OIEEEZITTEUT A CL DR BEHEIHLET .

- REPEARSOE(500mn/1) BT FAIE/ETERA > M BT T, SXTAOESE. LHIOBAL. RSOTELE, BEYICLO
TELNFT, BERBDAAZINTVIRZEAM THATI.

- FWEBOOVTE BRI FHORRSEU RS2 ER IR ENDDFT .
- L=V EBBICUYT (ZREER )N 2 154 . BBERNAICEREL TR ET .

Child Safety / FHOZZICONT
- Silent GlissBEISERINAAEDEN 13120(CEHLTVET,

%SilentGliss



APPLICATION CHART

15

25

31

41

AT L

SG 3840

SG 3870

SG 3900

SG 3970

SG 6370

#{F

b b it b it

51X

%SilentGliss

4— max.—

12 m

15 m

15m

14 kg

14 kg

20 kg

38 kg

66 kg



%SilentGliss



PRODUCT INFORMATION / S5k

- #BEAE O-MEE

- RVEEER: M(3T47L) — L(5—2)

- EREEEE: X, [FmEmEE

- h35—: 2= RKIA b

- 79U YA NMURTFTUI VD330 CSHRKIZEV BERNBD
SAREMESRFVLET

Features / ¥

- 2CH 49— %$RH

- WAVEN—F>3 AT LIS

- h—JINI=]&E

= D=FURYIZDN RSB IDEL TBERATER RIS 1T H1 >
1)

5 %SilentGliss

06/2025/V2



SYSTEM SPECIFICATIONS / A7 Lft#k

' w '

A. SYSTEM
DIMENSIONS / max— kg...
SAT LT EEEH
6m 14 kg
N-TURKREE - 2m 4m 6m
2C J54%9— or O—
5— —— 12 1 10
[Er 14 13 12
mﬁ 9 8 7
H1 10 9 6
[ % s 5 4
T 6 5
g{@/\ 5 4 8
& % 6 5 4
(kg max.)
-5V BAEE - 2mam e
Wave 2C J35144— N
E—_— 5 8 7
g 5 8 8
'ﬁ'ﬁ 5 6 5
Hf 5 6 6
3y -« -
4 4
3 2
3 3

(kg max.)

SG 3840 %SilentGliss



B. PROFILE / L=l r%

L—ILEN—THT D j
1545

21
FAEEDHEETE
FOERCTHELE y

9. 90E%BZDh—T
HITCDWTIE 50cm

NEERDET, Mgy 5S¢ 38
#AsrLADERe YTV
W R
v 20cm, >30 cm

C. HOW TO . A _ A: BEIR

MEASURE / | B B

— 7 . C: h—FTUENBEREFTOZS

SITE T // D BRI KEA

E: t—J74UF4F— SG 10731 RhHDER/INES
| I 150 cm

SN S

!

FITTING / s EEEHE

A. FITTING SHHREREIRIRICOVT(E. HHASEOWEDEE
INFORMATION / &Y%
HEEHEER
737‘3 bﬁo)mg ’ﬁo». max. 500 .. max. 500 LY
]
L] []
B. CEILING 7/
FITTING /
KHERE IC n@
\ J
95)7 - SG 3825 min. 60 min. 120

CIEARIB(CADEIZEPRCGERE IS

ML
7 ~& SilentGliss SG 3840



T345yh - SG 3832

N\

=

i

__min.60

0

min. 120

CIERRRICEDEERRSEREZS

38/\/‘2()}
<

C. WALL FITTING / %

IFMEEERE w@

AN—NI1YIA
(fErER) - X
AX—RI1yIZtyh SG 11200 - SG 11204 & 7

5ovhk SG 3832:
WEEBE RILIRT SG 10492 (M4x8)

I
-

ZDITAI—RI199Z2yh SG 11210 -
SG 11214 &T54vhk SG 3832:
MHEERR RILMRS SG 10492 (M4x8)

7

SG 3840 %SilentGliss

Smart Fix / AX—k71497 X mm X mm

A (SG 3825) (SG 3832)
SG 11200/ SG 11210 52 70

SG 11201 /SG 11211 72 90

SG 11202/ SG 11212 92 110

SG 11203 /SG 11213 112 130

SG 11204/ SG 11214 142 160

SG 11156 182 - 210 200 - 228




N

7

|

R

X

L

A= NR=YIAY—RI19H2yh SG 11156 & J5

vk SG 3832:

WEEBm NILIRT SG 10407 (M4x10)

7

X

W

AY—-KI1992R SG 11200 - SG 11204 & T3y

k SG 3825:

WHEEBG NILMRS SG 10074 (M4x8)

7

4

7,

ZHIFAI—NI1yIA YN SG 11210 -
SG 11214 & J35vh SG 3825:
WHEEBSR RILNRS SG 10074 (M4x8)

7

x

A= NR=BIAI-~I19H2tyh SG 11156 & TS

syb SG 3825:

MEEE RILNRS SG 11158 (M4x12)

A 20 » <
S
SG 3825 SG 3832 SG 10074 SG 10407
n3>7 J30vh +BIMILRRS M4x8 +FRIVRRD M4x10
N > o
\\\\\\ \\\\\\\ 60 & 80 $
o4 S N
16{ 62 a7 62
X’ 16{ N’
SG 10492 SG 11158 SG 11200 SG 11201

+FRRIVPRS M4x8

BIRIVbRS M4x12

%SilentGliss

AN—=RI4wIXyh 60 mm

AX—=bJ4vIZZyh 80 mm

SG 3840



/\
100 > 120 > }‘\
( \A ( \‘ 150 \‘ 5\2'9
<& U S Uy 5
Xy
16{ %4
SG 11202 SG 11203 SG 11204 SG 11210

AN—=NIJ1wIRzZyh 100

AN—=NJ1wIRtyh 120

AN—=NJ1wIREzyh 150

ATV AN —I1wI Aty bk
60 mm

80", o™ o T
L 29 £ 23 N BT
A16/29 V29 <29 29

A
16
< o %
SG 11211 SG 11212 SG 11213 SG 11214

ADIT AR —RI4wI Xty b
80 mm

200 \
62
/ ~
\ﬁ
<
SG 11156

AZN\=HYILAN—=RI1wI X
vk 200 mm

> 5

SG 11295 SG 11302

ADIT AR —RI1wI Xty b
100 mm

%SilentGliss

ADIFP AR —RI4wI Xty b
120 mm

SYSTEM OPTIONS / S5 LATZa>

A. WAVE /
WAVE h—7>

ADIT AR —RIT1wI Xty b
150 mm

Standard components / E#ERERLEB R

- SG 11295 IV RANT

- SG 11302 Wave 2C 735445 — 80

10



1

& &

SG 6364

SG 6365

SG 11303

Optional components / AT ABREBS (min.
Radius: >30 cm):

- SG 6364 Wave IJX7>>3>
- SG 6365 Wave J\>1—
- SG 11303 Wave 2C 5449 — 60

Curtain components / h—TABR S :

@ B

SG 3582 SG 6349

Wave stack / TefzdHMX - Wave 2C U519 — (AZHEAERLEDTR)

BBBB% - SG 3582 7%

- SG 6349 Wave 77

A = Stack depth / BUATOz K
B = Stack size / TRDfZfz M

Tunr | F
. 8 /

C = Min. distance / B2/\EIBR

Wave 2CH5(4 TYIDRT =7 DEH BITORME [ El0) 2 A =/ PR
—80/fZX% v bR A B* C
=759
80/1.75 6 ~2.1 140 —180/m 90
=759
80/2.0 7 ~2.3 160 <180/ 100
Wave 2C 9544 TVIDRT =7 DEH BITORfME [ El0) 2 A =/ bR
— 60/ 8% PIElE] A B* C
=759
60/17 4 ~2.1 100 <330/m 70
=759
60/2.0 5 ~2.3 120 <530/m 80

*Stack size B /Tzled+X (FFHERERLERGR)
- single stack / FTclzdHMt = + 130 mm

- pair stack / @fcfzdHt = + 30 mm (RO
feX)

*Stack size B / Tefed+ X (AT 8mkERER)
- single stack / FTclzdHMt = + 200 mm

- pair stack / @fcfzdMl = + 200 mm (FRID
fefzdHi)

%SilentGliss

SG 3840



PARTS / &bamn

A. STANDARD PARTS / {Z=#EPm B. OPTIONAL PARTS / AF>a &b &
SG 3090 SG 3340 SG 10407
J-Ro3.5m FSIAUIA N +FRANIES MAx10
SG 3832 SG 3582 SG 10492
39 bh Jw +F RIS M4x8
SG 3841 SG 3802 SG 10731
L—JL VDRI Fr AL RE—T74 UFAF—tyh
SG 3845 __ SG3825 SG 11156
SG 6063 SG 5115 J SG 11200
A—N=5vTT7— 1 SO/ ARI2a>TVYS = AI—RI4vI2y~ 60 mn
SG 11300 SG 6065 - SG 11201
2C 554%5— USRI RN T < A~ NI4wH 2y h 80 m
~
SG 6086 . SG 11202
2TUSG AT ] ZX—RI49H2yk 100 m
SG 6098 _ SG 11203
BEHX5>F— % A= RI4vH 2y 120 mn
SG 6283 . SG 11204
“1-5>F- / AX—RI4vH2yh 150 m
SG 6288 S SG 11210
A—N=5yT7— L J"’ ZDTTFAR—NI4vHALYk 60
Xy I mm
SG 6349 S SG 11211
Wave 5—7 /‘ ZDIFAR—NI19IA LY~ 80
S I mm
SG 6364 SG 11212

V%

Wave IJAX5>23> AIDLITAX—hNI19IAzwh 100

mm

SG 6365 oSG 11213

Wave /\>H— / ] ZOI7AR—RI4vIREYR 120
< mm

SG 10277 SG 11214

+FARILBRS M4x12 ADITAR—hNI19IAzwh 150

mm

Y

ML
SG 3840 ~& SilentGliss 12



S5G 11295

IRANT

SG 11302

Wave 2C J544— 80 mm

RRL

SG 11303

Wave 2C 75445 — 60 mn

%SilentGliss

SG 3840



ML
SG 3840 ~& SilentGliss



PRODUCT INFORMATION / S5k

- #BEAE O-MEE

- RVEEER: M(3T47L) — L(5—2)

- EREEEE: XA, [FmEmEE

- h5—: 2= RKIA b

- 79U YALY NMURTFTUI D330 CSRRIZEV BERNBD
SAREMESRFVLET

Features / ¥§#4:

- 2C)54 9%

- Wave h—7>3 A7 Al

- h—JhiI=I&E

- FTILWZAA—RIANLDTHA O D—F 2’V TT

15 %SilentGliss

06/2025/V2



SYSTEM SPECIFICATIONS / A7 Lft#k

A. SYSTEM
DIMENSIONS /
S AT L EEEE

h-ToBKREE -
Wave 2C J544—

-7 mAEE -
2C J5449- or O—
5—

SG 3870

_ |

]
l i
T
# N\
#F N

kg
14 kg
4m 6m
1 10
13 12
8 7
9 6
5 4
6 5
4 3
5 4
(kg max.)
4m 6m
8 7
8 8
6 5
6 6
3
4 3

(kg max.)

%SilentGliss

16



B. PROFILE / L=l

L=LEh-TMID
TRk

AEIVEDEFHETER
ROFEICTHIGUE

9, 0E#IBZZN—T
IITICDWTIE 50cm

DEERDET , FEEH
HABEVEh S
(AN

C. HOW TO
MEASURE /
RIETTZE

FITTING / &

A. FITTING
INFORMATION /

HEHAER

T35y NEDAIE

B. CEILING
FITTING /
KHHE

9327 - SG 3825

17

SG 11190
L=

AR
v >26cm

A

AN

SN S

!

=L elE

FFAREREBRICOVTE. HHABBVEDEE
&L,

100 max. 500 max. 500 100

= . o

L [

gy

min. 60

min. 120

CIEARIBCADEIZEPRCGERE IS

%SilentGliss

DOW>
il
\.I
S F
.
2
[8)
St
St
A
S
g
073

E: t’—?v‘-{'b_-'fd'— SG 10731 RhH0&w/INEE
150 cm

SG 3870



SG 3825
937

J3Uyh -SG 3832 %% /%/
e
i I e

__min.60 min. 120

CIERRRICEDEERRSEREZS

38/\/‘2()}
<

SG 3832
I35k

C. WALL FITTING / %
IFMEEERE

AX—=NI1YIR
(FHEHER) - X

AN—bJ19H2tyh SG 11200 - SG 11204 & 7
5ovhk SG 3832:
WEEBE RILIRT SG 10492 (M4x8)

-~

ZDITAI—RI199Z2yh SG 11210 -
SG 11214 & F545vhk SG 3832:
MHEERR RILMRS SG 10492 (M4x8)

7

SG 3870 %SilentGliss

Smart FixSmart Fix / AX— X mm X mm
~I19H9R (SG 3825) (SG 3832)
SG 11200/ SG 11210 52 70

SG 11201 /SG 11211 72 90

SG 11202 / SG 11212 92 110

SG 11203 /SG 11213 112 130

SG 11204/ SG 11214 142 160

SG 11156 182 - 210 200 - 228




19

7

hl

X

i

A= NR=YIAY—RI19H2yh SG 11156 & J5

vk SG 3832:

WEEBm NILIRT SG 10407 (M4x10)

X

A\

AY—-RI19I2Yh SG 11200 - SG 11204 & J

vk SG 3825:

WHEEBG NILMRS SG 10074 (M4x8)

N\

2

7

ZHIFAI—NI1yIA YN SG 11210 -
SG 11214 & J359hSG 3825:
HEEBSR RILNRS SG 10074 (M4x8)

N\

x

A= NR=BIAI-~I19H2tyh SG 11156 & TS

syb SG 3825:

MEEE RILNRS SG 11158 (M4x12)

A 20 » <
S
SG 3825 SG 3832 SG 10074 SG 10407
n3>7 J30vh +BIMILRRS M4x8 +FRIVRRD M4x10
N > o
\\\\\\ \\\\\\\ 60 & 80 $
o4 S N
16{ 62 a7 62
X’ 16{ N’
SG 10492 SG 11158 SG 11200 SG 11201

+FRRIVPRS M4x8

BIRIVbRS M4x12

%SilentGliss

AN—=RI4wIXyh 60 mm

AX—=bJ4vIZZyh 80 mm

SG 3870



/\
100 > 120 > }‘\
( \A ( \‘ 150 \‘ 5\2'9
<& U S Uy 5
Xy
16{ %4
SG 11202 SG 11203 SG 11204 SG 11210

AN—=NIJ1wIRzZyh 100

AN—=NJ1wIRtyh 120

AN—=NJ1wIREzyh 150

ATV AN —I1wI Aty bk
60 mm

80", o™ o T
L 29 £ 23 N BT
A16/29 V29 <29 29

A
16
< o %
SG 11211 SG 11212 SG 11213 SG 11214

ADIT AR —RI4wI Xty b
80 mm

200 \
62
/ ~
\ﬁ
<
SG 11156

AZN\=HYILAN—=RI1wI X
vk 200 mm

> 5

SG 11295 SG 11302

ADIT AR —RI1wI Xty b
100 mm

%SilentGliss

ADIFP AR —RI4wI Xty b
120 mm

SYSTEM OPTIONS / S5 LATZa>

A. WAVE /
WAVE h—7>

ADIT AR —RIT1wI Xty b
150 mm

Standard components / E#ERERLEB R

- SG 11295 IV RANT

- SG 11302 Wave 2C 735445 — 80

20



21

& &

SG 6364 SG 6365

QBQQBE

¢

SG 3582 SG 6349

Wave stack / TefzdHMX - Wave 2C U519 — (AZHEAERLEDTR)

SG 11303

Optional components / AT ABRERGR:
- SG 6364 Wave II9X57>33>

- SG 6365 Wave )\>H—

- SG 11303 Wave 2C J3544— 60

Curtain components / N1—F A8 EbGR:

- SG 3582 7v7
- SG 6349 Wave 7—7

A = Stack depth / BUATOz K
B = Stack size / TRDfZfz M

T [ F
S-S /

C = Min. distance / B2/\EIBR

*Stack size B /fzlcHX (EREERBRKER )

- single stack / FlcleX = + 130 mm

C 2xC
Wave2CH5A4 IO =T DEH BITOREHMK TBORHMY /) \E bR
— 80 /{83 w bR A B* C
80/175 6 21 140 ”‘;?;Ob?n‘” 90
80/2.0 7 ~23 160 ”‘;?;OI‘/?T]‘” 100
Wave 2C 9514 TVIDIT =T DEH BITOREHMY TBORHY /) \bR
— 60 / &% v NERR A B* C
60/1.7 4 ~2. 100 ”‘;\g&?n‘” 70
60/2.0 5 23 120 73;’_'2\;5?37 80

- pair stack / miclzdMt = + 30 mm (RO

e k)

*Stack size B / TeledHX (AT 3 i@RERGR)
- single stack / FlcleX = + 200 mm

- pair stack / mfclzdMt = + 200 mm (FAID

Fele )

%SilentGliss

SG 3870



PARTS / &bamn

A. STANDARD PARTS / &R#8B 5

B. OPTIONAL PARTS / A7> 3> 8Ba

SG 3870

SG 3090 SG 3340 SG 10492
J-Rg 3.5mm F>23a>IIAb +FRIRILRRS M4x8
SG 3832 SG 3582 SG 11156
F55vk 97 % = R—DARZ— R IA9IAEIN
200 mm
SG 6086 SG 3802 é*» SG 11200
ZTISIZ T REGDENS IS : I —NT4vIZEyh 60 m
SG 6288 __ SG3825 - SG 11201
A-N—59T7—1x Q}f@) 9527 . Z3—NI19H 2tk 80 mn
~
SG 10731 . SG 5115 - SG 11202
Fr AL RE-J7¢ UTAF—twh / T3MUh / ARD332TVYD . AN—=bI4yIRAyhk 100 mm
N
SG 11190 SG 6063 _ SG 11203
L= A—N—59T7—1x % X~ RT4yIZtyh 120 m
SG 11285 SG 6098 . SG 11204
14 Reyh BRIVS- AR —=RI4y9ZLyh 150 mn
SG 11300 SG 6283 Sx_ SG 11210
2C 5545 15— ‘/" 2ITT7 AR~ NI19D 229k 60
g I mm
SG 6349 S, 611211
Wave 5—7 /\ ZDIFAR—NI19IALYN 80
& I mm
SG 6364 SG 11212

Wave I9X7>33>

)

ADIT AN —I4wI Ry 100
mm

SG 6365 oSG 11213

Wave \7— / N ROIFAR-NI4voREYh 120
< mm

SG 10157 SG 11214

D1y XEBHEREEMm

ADIT AN —BI4wI Ry 150
mm

SG 10277

+FNRIVDRD M4x12

SG 11230
DAL=l *BoEREEm

SG 10407

+FNRIVIRS M4x10

Bl

SG 11238
VEANRY B EEEm

%SilentGliss

22



S5G 11295

IRANT

SG 11302

Wave 2C J544— 80 mm

RRL

SG 11303

Wave 2C 75445 — 60 mn

23

%SilentGliss

SG 3870



ML
SG 3870 ~& SilentGliss



SG 3900

PRODUCT INFORMATION / S5k

- #BEAE O-MEE

- BVEEER: M(3T47L) - L(5—2)

- EREEEE: X, [FmEmEE

- h5—: 2= RKIA b

- 79U YLD NMURTF TV I3 CSRRIZEVN BERNBD
SAREMESRFVLET

Features / $&#4:

- h—TJhNIeJ&E
- BB AR TS T —(CEDIRIEFRL—-X

25 %SilentGliss

06/2025/V1



SYSTEM SPECIFICATIONS / A7 Lft#k

A. SYSTEM
DIMENSIONS / D— kg
S AT L~ G
12m 20 kg
b_j_-\/%jcii 2m 4m 6m 8m 10m 12m
A ——— 8 12 16 15 13 1
e R—-r 8 14 20 18 15 13

B. PROFILE / L—JL 2

L—ILED—THNIo
&R

AEIOEDEHFEETE
ROEFCTHIELE
9., 0E#BZZN—T
INTICDOWTIE 60cm
NBERDET, SEMIFE sG 3982
HABEIVEDHEE L—J
0o

L N »
w

FRR:
v 20cm, >30 cm

SG 3900 %SilentGliss



C.HOW TO
MEASURE /
BIEFSZE

FITTING / s2iE&EH

A. FITTING
INFORMATION /
RBHHER

I3y NEDAIE

B. CEILING
FITTING /
IHEE

T35yb - SG 3603

27

A

AN

SN S

!

FHARFRERIRCOOVTE. HHASBEVWEDELE
(AN

100 max. 600 max. 600 100

L [ ]
* HARTIE max. 500 mm £2DFE T,

//%%/

%
[
g

min. 120

CIEARRCEDRIZEPRGRE IS

SG 3603
KHATSovb

%SilentGliss

=R =y
R E

A:
B: #mEd

C: =T ABNBREFTOES

D: ##{F1—-RRE

E: ©—J74UF4F— SG 10731 R 5DOw/NEd
150 cm

SG 3900



C. WALL FITTING /
IEMEEESE

AX—=NI1WIA
(7HEHER)

SG 3900

Smart Fix / AXN—WRI199Z

X mm (SG 3603)

%
W SG 11200/ SG 11210 86
SG 11201 / SG 11211 106
| SG 11202/ SG 11212 126
L y |
~ > SG 11203/ SG 11213 146
AX—bR21wHZtwbh SG 11200 - SG 11204 & 7 sG 11204 /SG 11214 176
39k SG 3603: G 111 16 o
HEZPGR RILNRS SG 10492 (M4x8) 611156 6244
7
| N
- X .
ADITAI—-NI1yIZA vy SG 11210 -
SG 11214 & T34k SG 3603:
MEERG MILARS SG 10492 (M4x8)
7/
= 7
%A x 1
A== AI—RI1wIAty s SG 11156 & J5
vk SG 3603:
HEEE RILNRS SG 10277 (M4x12)
N P o
O <fll p
16 62
s N
SG 3603 SG 10277 SG 10492 SG 11200
XAFTSovh +FARRIVNRS M4x12 +F AR BRS M4x8 AX—RIJ4wI2tyh 60 mn

~ PN P T
80~ 1007~ 120 > >
& / 150
A Q/II \6AZ \/I \6‘2 </ \6A2 </ \6‘2
o J (3 J % J < J
16{
SG 11201 SG 11202 SG 11203 SG 11204

AN—RIJ4whZys 80 mm  AX—KJ1vIRAEYk 100

AX—KNI1wIAtzyh 120

AN—=RJ1wHZtyhk 150

{)\v <80\v O\v mﬁ\v

*16/ < 29 \16/29 529 <29
o *16/{

SG 11210 SG 11211 SG 11212 SG 11213

ADITAR—RI1wIAyh  RDITAR—bNI1wIAyh  RDITARN—RI1wIAtyh  RDIT7AN—RI19IAtzyh

60 mm 80 mm 100 mm 120 mm

%SilentGliss

28



A8 IT55vbk
SG 3630,
SG 3655,
SG 3660

29

/

150 >
/~| 200 \A
29 / \6'2
oo N
<

SG 11214 SG 11156
ADITAR—RNIqwH 2y IZN=BIAX—RIT49IR
150 mm vk 200 mm

N

SG 3630 SG 3655
AZN=YILI3oyh 35mm  IZ)N=H)L I3y 0>d

50 mm

%SilentGliss

Bracket / 1Z)\—Y I T55y X mm
SG 3630 49
SG 3655 59
SG 3660 79
SG 3660
A=Y TSy hIFZ N
5024 65 mm
SG 3900



PARTS / &bamn

A. STANDARD PARTS / &R#8B 5

B. OPTIONAL PARTS / A7> 3> 8Ba

mm

SG 3090 SG 3620 Sy, 5611210

J-Ko3.5m %523 TS / FAE J‘ ZDIT7AI—NI19I2kyh 60
X3 I mm

SG 3340 SG 3630 oSG 11211

F22aVIIA b 21=/0-8LT55vh 35 m /* 2DIFAR—RIHYIALYk 80
S I mim

SG 3603 SG 3655 S, SG11212

KHATFHwA I=X=9UT35yba>s 50 m /“ ADITA—bI19IZXzyb 100
C mm

SG 3911 SG 3660 S SG 11213

5oF- 1=/N-BIN TSIy RIFR NSO / ] ZOI7AR—RI4vIREYR 120

4 65 mm

h

q

SG 3915 SG 3931 oSG 11214
>
WQ WQ T~ A Rk TS FANT / 2OT7 AR~ I19I Ak 150
RS < mm
SG 3936 SG 10277
A—=N=3vT7— 1A + RV IRS M4x12
SG 3982 SG 10492
LI TFRRILNRS Max8

SG 3900

SG 10731

Fr A RE-T74 U4 F—tyh

SG 11156

IZN=HIAX—RI1vI Xy b
200 mm

SG 11200

AN—=RI4wH Xy 60 mm

SG 11201

AN—=NI4wI Xy 80 mm

5G 11202

AN—=NJ4wH Xy 100 mm

SG 11203

AN—=NI4wI Xy 120 mm

SG 11204

AN—=NJ4wH Yk 150 mm

%SilentGliss

30



SG 3970

PRODUCT INFORMATION / S5k

- #BEAE O-MEE

- BVEEER: M(3T47L) - L(5—2)

- EREEEE XA, [EHE. VX (1EhiAdH)

- h5—: 2= RKIA b

- 79U YA NMURTF TV D330 CSRRIZEV BERNBD
SAREMESRFVLET

Features / ¥§#4:

- 2CO0-5—%#%H

- Waveh—7>3 27 AT IS

- h—JhiI=I&E

- YERAL—IUCEBD—T I A

- BPEEORERER(CRBERA—T> IV

31 %SilentGliss

06/2025/V2



SYSTEM SPECIFICATIONS / A7 Lft#k

A. SYSTEM
DIMENSIONS /
S AT L EEEE

B. PROFILE / L—JL

L—ILED—THNIo
&R

AEIOEDEHFEETE
ROEFCTHIELE
9., Q0E#BZZN—T
ANTICDOWTIE 50cm
MEERDET, FFHMl(EH
HABEIVEDHEE
(A

SG 3970

4— max.—
15m
2m
R — 25
a1 25
l 25
25

kg..

38 kg

4m 6m 8m 10m 12m

38 35 30 25 20
38 35 30 25 20
30 25 20 18 15
30 25 20 18 15
16 13 n 10 8
16 13 " 10 8
13 " 10 9 7
13 n 10 9 7
40
‘T
ZT: 24

| 51 J

65
SG 3971 SG 10862
L=Iv A=
IR *N—THIT G BYERE]
v >25cm

%SilentGliss

(kg max.)

32



C.HOW TO
MEASURE /
BIEFSZE

FITTING / s2iE&EH

A. FITTING
INFORMATION /
RBHHER

I3y NEDAIE

B. CEILING
FITTING /
XHEE

93> - SG 3004

33

A

AN

SN S

!

FHARFRERIRCOOVTE. HHASBEVWEDELE
(AN

120 max. 500 max. 500 120

L ]

min. 120

__min. 60

CERRRICEDEERSEREEL

38 &
\

SG 3004
93>

%SilentGliss

=R =y
R E

A:
B: #mEd

C: =T ABNBREFTOES

D: ##{F1—-RRE

E: ©—J74UF4F— SG 10731 R 5DOw/NEd
150 cm

SG 3970



Direct fitting / 7 %
Eff&E =

min. 60 min. 120

CIERRRICEDEERREREZS)

21.5 21.5
>
- @§

SG 7002 SG 10865

L—=JOF7545— HR—-rIL—b
75459k - SG 3041 W %/

Al
oe_s
N
min. 60 min. 120
CHERRIB(CEDEEEMIGREZEW
48> 20
2V
o /
N

SG 3041

I35k
C. WALL FITTING / 7/

EEEYE A—ﬁ

AN=RI1WIR i
(fEER) I X N

AY—RNI1wH 2ty SG 11200 - SG 11204 & J

359k SG 3041:

WHEERER NLMRS SG 10492 (M4x8)

SG 3970 %SilentGliss

Smart Fix / AN—bJ497 X mm X mm

2 (SG 3041) (SG 3004)
SG 11200/ SG 11210 83

SG 11201 /SG 11211 103 72

SG 11202 /SG 11212 123 92

SG 11203/ SG 11213 143 112

SG 11204 /SG 11214 173 142

SG 11156 208 - 236 182 - 210

34



35

7

| B

X L
AI)IFAI—hRI19IAyh SG 11210 -
SG 11214 & T34k SG 3041:
MHEEG NILMRS SG 10492 (M4x8)

7

X

A AI- w2 EYh SG 11156 & T3
yb SG 3041:
WHEERG NILMRS SG 10407 (M4x10)

X

A\

ZX—RI1yIAtYN SG 11201 - SG 11204 & ¥
527 SG 3004:
HEEBSR RILNRS SG 10074 (M4x8)

7

-

ZOIFAR—NI{YIR YN SG 11211 -
SG 11214 & 95>7 SG 3004:
RELE RILNES SG 10074 (M4x8)

s

I-)N-BINAR - ’I1vIZXyb SG 11156 & 95>
7 SG 3004:
MHEERG NILMRS SG 11158 (M4x12)

7

b M ~N
o 20 $ <
o ; 48/\ : \) \)
N—== /‘

S

>4

SG 3004 SG 3041 SG 10074 SG 10407
D35> I35k +H3IRIL MRS M4x8 +FARINIVRERS M4x10

%SilentGliss

SG 3970



D. RECESS

FITTING /
VERT4YTAY

JEAL- -
SG 10862

SG 3970

L\ &N B AN
\\\\\\ i \\\\\\\\\\\ <60 o 80 <
f %?2 < 4' b
N e N
SG 10492 SG 11158 SG 11200 SG 11201

+FRRIL RS M4x8

BIRILDRS M4x12

AN —=NJ4wIZZyh 60 mm

AN—=NJ4wI Xy 80 mm

/\ /\ N 607
<2 AN s S8y
a S I 62 / 62 </ 62 *16/4 29
o ¥ oo ~y S ~y
SG 11202 SG 11203 SG 11204 SG 11210

AN—=NJ1wIRzyh 100

AN—=NJ1wIRtzyh 120

AX—=hI19IAyh 150

AD)IT AN —I1w Ity bk
60 mm

80", o™ o T
L 29 £ 23 N BT
A16/29 V29 <29 29
A
16
< o %
SG 11211 SG 11212 SG 11213 SG 11214

ADITF AR —RI4wI Aty b
80 mm

2T
Y

A
b

SG 11156
IZN=HILAI—RT1vIR
vk 200 mm

7

AIIT AR —RI1wI X2y b
100 mm

|

H1wSG 5118(3500mn(C 1EERSE.
SRR EBIRICOVTIE, HHEABSHEVWEDEES

ADIFP AR —RI4wI Aty b
120 mm

(A
40 77/\> 51
. 3 e -~
25 24 26
v ¥ D
51
SG 10862 SG 10864 SG 5118
eAL-Ib YT AN AY DIy

%SilentGliss

ADIT AR —RIT1wIx 2y b
150 mm

36



SYSTEM OPTIONS / AT AT 3>

A. WAVE /
WAVE #—7>

8go™ > Standard components / {R4EERR SRR
&> <N - SG 11295 IV KA hyT
SG 11295 SG 10852 - SG 10852 WaVe ZC El—i— 80

SG 6365 SG10845  SG10854  SG10867 - SG 10845 Wave XA9—+vU7 80
- SG 10854 Wave A—)\\—-3vIJL—h
- SG 10867 +F RIS M4x16

- SG 10869 Wave 2C O—3— 60

- SG 10887 Wave I9R7>33>

SG10869 SG 10887

[ Curtain components / H—T A& EbER:
9999 - SG 3582 7%
@ ? ~ SG 6349 Wave -7

SG 3582 SG 6349

37 %SilentGliss

Optional components / A>3 A&pEhmR:
@ - SG 6365 Wave )\>}i—

SG 3970



SG 3970

Wave stack / TefedHX; - Wave 2C O—35— (RSB MR)

Z 7 A = Stack depth / BATOITz K
/ / B = Stack size / TRODIlzHX
T ] C = Min. distance / Bx/)\EIBR
S I : -
B C 2xC
Z
Wave 2C O—Z VIO H=7>0=Ed BATORZMME [E0) Y =/ I\EE
— 80/ f8% w N B A B* C
=75y
80 /175 6 ~2.1 140 Z310/m 90
=759
80/2.0 7 ~2.3 160 Z510/m 100
Wave 2C 0—5 VIO H=7>0=Ed BATORZMME [E0) Y =/ I\EE
— 60 /f&%& w N B A B* C
=75y
60 /17 4 ~2.1 100 £260/m 70
=759
60/2.0 5) ~2.3 120 £260/m 80

*Stack size B / TzfedHX (ARAERBRERD)
- single stack / RIzlzdHt = + 140 mm
- pair stack / WfzdHt = + 40 mm (R IO

lzk)

*Stack size B / IeledHX (AT 8pER )

- single stack / FizlzdH = n/a
- pair stack / MmfzfzdHt = + 150 mm (FAID

ez i)

%SilentGliss




PARTS / &bam

A. STANDARD PARTS / &E£&bm B. OPTIONAL PARTS / A>3 b5
SG 3090 SG 3004 SG 10852
J-R g 3.5mm e y O30 Wave 2C O—35— 80 mm

|

SG 3971 /é, SG 3041 SG 10854
L=l = J54vb Wave A—N\—3yTTL—k
Sl
AN
SG 10731 SG 3340 SG 10862
Fr/IVRE-DJ71 U714 —tvh T39I JeAL-I
SG 10821 SG 3582 SG 10864
A== TT7—h H35>% v JEANRD
SG 10826 SG 5118 SG 10865
A==y TT7—-LHHR-b Iy> Y-~ IL—b
SG 10840 SG 6349 SG 10867
2c0-3- Wave 77 WAVE +3~RILNRS M4x16
SG 10923 SG 6365 SG 10869
FARRIVNED M4x12 Wave \> 5 — Wave 2C O—35— 60 mm
SG 11314 SG 7002 SG 10887
RAA—=FvU7 L—-JoF945— Wave I9X57>23>
SG 11315 SG 10074 SG 11156
A4 Reyh +HIRIL RS M4x8 IZ)N=HILAI— I v 2ty

200 mm

SG 11158
BIMILIRS M4x12

SG 10407
+FNRIVIRS M4x10

SG 10492
+FRNILBRS M4x8

SG 11200
AX—=hJ4wIZyh 60 mm

SG 11201
AN —=bJ4wIZzyh 80 mm

SG 10820
A=N=39T7—L ZRL—b

SG 10831 SG 11202
ARD3> TS AN—RIT4wH Aty 100 mn
SG 10845 SG 11203
Wave YAA—F+vV7 AX—=bJ4wHIAZyh 120 mm

ML
39 ~& SilentGliss SG 3970



SG 11204

AN—=NJ4wHXyh 150 mm

SG 11210

ADIT AR —RI1wIAyh 60
mm

SG 11211

AIDIPAI—hI4vIAtzyh 80
mm

SG 11212

ADIT AR —NI4wIRyh 100
mm

SG 11213

ADIPAR—bT4vIAtzyb 120
mm

SG 11214

ADIT AR —BNI4wIRyh 150
mm

SG 11295

IVRANS

SG 3970

%SilentGliss

40



PRODUCT INFORMATION / S5k

- 1B O-MEE

- BYFEER: L(5—>)

- EREEEE: XA, [FmEmEE

- h5—: 2= RKIA b

- 79U YLD NMURTFTUSI VD330 CSRRKIZEVN BEIRNBD
SAREMESRFVLET

Features / $&#4:
- h—JINTEJ&E

a4 %SilentGliss 06/2025/V1



SYSTEM SPECIFICATIONS / A7 Lft#k

A. SYSTEM
DIMENSIONS / ma—p kg
SAT LS EEEE
15m 66 kg
N-TUBRAEE - 2m 4m 6m 8m 10m 12m 15m
O0—5— SG 6098
ER———— 62 60 58 56 54 50 46
e 66 64 62 60 58 55 50
mﬁ 46 43 40 37 34 30 25
ﬁf 50 47 44 41 38 35 30
| %T 36 33 30 27 24 22 18
%1 %f 44 40 36 33 30 28 22
g{a%/\ 24 19 14 5 4
m 27 23 19 10 9
kg max)
h-TUEXEER - 2m 4m 6m 8m 10m 12m 15m
O0—5— SG 6283 _
———— 45 42 40 38 35 32 28
AR AR 46 44 42 40 38 36 34
i&ﬁ 32 30 28 26 24 22 18
h* 34 32 30 28 26 23 20
[ %1 24 2 20 18 16 13 10
%T %f 29 27 25 3 21 18 15
(kg max)
B. PROFILE / L—=Jl 44

L=en-JII0
TR

BEOENGEMETE &
ROFZRCTHEUE
9, 0EEBRZN—T

- SG 6371
MITIEOVTE 50em )
PEERDET, SEMIEY e
AABEVEHEEE o f;? cm
(A

SG 6370 %SilentGliss



C.HOW TO
MEASURE /
BIEFSZE

FITTING / s2iE&EH

A. FITTING
INFORMATION /
RBHHER

I3y NEDAIE

B. CEILING
FITTING /
KHERIE

BB

C. WALL FITTING /

IFHEEEE

AN—=NI19IR
(HBhER)

43

=R =y
R E

-~ A:
h " B: #mEE
C:
D:
E:

A

BF1-RR2

AN

N=TAENBRETDZE

£—JF7UF1F~ SG 10731 BRNBOR/N\EE

| T 150 cm
D
B ‘{
E
A J
7
EEREREIBIRICOVTIE. HHABEIVWEDHEE
AR
’1—OO> .= max. 600 . max. 600 . 100
L []
* HARTIE max. 500 mm £2DFE T,
i
)
s sIE
- min. 60 =“ min. 120 _
CHERRIBICEDEEEMCEREZEV
% Smart Fix / 2X—bkI4v9Z X mm
‘ | AN SG 11156 167 - 195
X 30,
A== AI—-RI1vHAyh SG 11156 & Fvb
vk SG 6369:
HEEDR RILNRS SG 11157 (M4x20)
%SilentGliss SG 6370



SG 6370

/

14 200 \A
\6'2
” 40 / \‘11
N
b
SG 6369 SG 11157 SG 11156
Fyhzyh +FARRIV RS T52 24 AZN-HYILAN—RI1vI X

M5x20

%SilentGliss

vk 200 mm

44



PARTS / &bam

A. STANDARD PARTS / FR#8Bm

B. OPTIONAL PARTS / A>3 &b

SG 6070 SG 6079
J-R g 6 m RBRXT—L ) A== TT7— 1L
SG 6086 SG 6283
2T AN T “1-52F—
SG 6098 SG 6369
BRI - AN
SG 6214 SG 6372
JAOYRS>F— / ARSI / S
:
SG 6371 SG 6575
L=l I-RF>Saf—
SG 6377 SG 6578
d-RAAREYh Ja7—-kIA—
SG 10731 SG 11156

FrALRE=T74 UFAF YR

IAZN=BIAY—RI4wI Ay h
200 mm

45

SG 11157

+ ARV RS T52 245
M5x20

SG 11295

IVRRNT

%SilentGliss



%SilentGliss



%SilentGliss



The Architects of Silence

Silent Gliss is the leading global supplier of premium
interior window treatments. Since 1952 we have
been tirelessly committed to the development of the
world's smoothest, quietest systems using state of
the art technology.

Driven by customer needs, Silent Gliss offers
functional and durable products. Expert technical
advice coupled with installation and support services
complete the offer. Silent Gliss stands for
innovative, sustainable, tailor made solutions,
exceptional design and first-class quality.

Silent Gliss Corporation

4F Sanko Bldg.

9-9 Yotsuyasakamachi,
Shinjuku-ku

160-0002 Tokyo

Japan

T Tokyo 03 3350 4809

T Osaka 06 6626 2810
salestokyo@silentgliss.co.jp
salesosaka@silentgliss.co.jp

silentgliss.co.jp



	 Cord OperatedCurtain Track Systems
	 General Notes / 一般的な注意事項 
	Application Chart

	SG 3840
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	カーテン最大重量 - 2C グライダー or ローラー
	カーテン最大重量 - Wave 2C グライダー

	 Profile / レール 
	レールとカーブ加工の情報
	SG 3841


	 How to measure / 測定方法 

	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	クランプ - SG 3825
	SG 3825

	ブラケット - SG 3832
	SG 3832


	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 3825
	SG 3832
	SG 10074
	SG 10407
	SG 10492
	SG 11158
	SG 11200
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156



	 System Options / システムオプション 
	 WAVE / WAVE カーテン 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 


	SG 3870
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	カーテン最大重量 - Wave 2C グライダー
	カーテン最大重量 - 2C グライダー or ローラー

	 Profile / レール 
	レールとカーブ加工の情報
	SG 11190


	 How To Measure / 測定方法 

	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	クランプ - SG 3825
	SG 3825

	ブラケット - SG 3832
	SG 3832


	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 3825
	SG 3832
	SG 10074
	SG 10407
	SG 10492
	SG 11158
	SG 11200
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156



	 System Options / システムオプション 
	 WAVE / WAVE カーテン 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 


	SG 3900
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	カーテン最大重量

	 Profile / レール 
	レールとカーブ加工の情報
	SG 3982


	 How to measure / 測定方法 

	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	ブラケット - SG 3603
	SG 3603


	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 3603
	SG 10277
	SG 10492
	SG 11200
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156

	ユニバーサルブラケット SG 3630, SG 3655, SG 3660
	SG 3630
	SG 3655
	SG 3660



	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 


	SG 3970
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	カーテン最大重量 - 2C ローラー

	 Profile / レール 
	レールとカーブ加工の情報
	SG 3971
	SG 10862


	 How To Measure / 測定方法 

	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	クランプ - SG 3004
	SG 3004

	Direct fitting / 直付け設置
	SG 7002
	SG 10865

	ブラケット - SG 3041
	SG 3041


	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 3004
	SG 3041
	SG 10074
	SG 10407
	SG 10492
	SG 11158
	SG 11200
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156


	 Recess fitting / リセスフィッティング 
	リセスレール - SG 10862
	SG 10862
	SG 10864
	SG 5118



	 System Options / システムオプション 
	 Wave / Wave カーテン 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 


	SG 6370
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	カーテン最大重量 - ローラー SG 6098
	カーテン最大重量 - ローラー SG 6283

	 Profile / レール 
	レールとカーブ加工の情報
	SG 6371


	 How to measure / 測定方法 

	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	直付け設置

	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 6369
	SG 11157
	SG 11156



	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 
	The Architects of Silence




